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QUESTION 1

If a SmartUpdate upgrade or distribution operation fails on SecurePlatfom, how is the system recovered? 

A. The Administrator must remove the rpm packages manually, and re-attempt the upgrade. 

B. The Administrator can only revert to a previously created snapshot (if there is one) with the command cprinstall
snapshot . 

C. The Administrator must reinstall the last version via the command cprinstall revert . 

D. SecurePlatform will reboot and automatically revert to the last snapshot version prior to upgrade. 

Correct Answer: D 

 

QUESTION 2

Which command displays the installed Security Gateway version? 

A. fw stat 

B. cpstat -gw 

C. fw ver 

D. tw printver 

Correct Answer: C 

 

QUESTION 3

Your manager requires you to setup a VPN to a new business partner site. The administrator from the partner site gives
you his VPN settings and you notice that he setup AES 128 for IKE phase 1 and AES 256 for IKE phase 2. Why is this a
problematic setup? 

A. All is fine as the longest key length has been chosen for encrypting the data and a shorter key length for higher
performance for setting up the tunnel. 

B. All is fine and can be used as is. 

C. Only 128 bit keys are used for phase 1 keys which are protecting phase 2, so the longer key length in phase 2 only
costs performance and does not add security due to a shorter key in phase 1. 

D. The 2 algorithms do not have the same key length and so don\\'t work together. You will get the error ".... No
proposal chosen...." 

Correct Answer: C 

 

QUESTION 4
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Identify the ports to which the Client Authentication daemon listens by default. 

A. 8080, 529 

B. 259,900 

C. 80, 256 

D. 256,600 

Correct Answer: B 

 

QUESTION 5

When you run the fw monitor -e "accept;" command, what type of traffic is captured? 

A. Only inbound traffic, before and after the inbound inspection. 

B. All traffic coming in all directions, before and after inbound and outbound inspection. 

C. All traffic accepted by the Rule Base. 

D. Only outbound traffic, before and after the outbound inspection. 

Correct Answer: B 
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